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QUESTION 1

A customer is using HPE Synergy Composer to manage the compute module and 3PAR volume attachments. The
datastore attached to VMware servers has run out of space. What is the most efficient procedure the Synergy integrator
should follow to extend the volume with minimum effect on the compute modules?

A. Set the volume to maintenance mode and increase the volume in 3PAR SSMC.

B. Create a snapshot and increase the capacity of the snapshot directly in the Synergy Composer.

C. Increase the capacity of the volume in the combined profile form.

D. Increase the capacity of the volume directly in the Synergy Composer.

Correct Answer: D

QUESTION 2

While troubleshooting a hardware issue, a Synergy integrator needs to provide HPE Support with a new support dump.
What must the integrator be aware of when generating a support dump?

A. When creating a new support dump, the previous support dump is deleted.
B. Only two support dumps can exist on an appliance at any one time.

C. Root level privileges are required to create a support dump.

D. Management tasks are suspended during support dump creation.

Correct Answer: B

QUESTION 3

A customer has moved a USB bootable drive to another compute module but the compute module fails to boot from the
USB device.

What should the Synergy integrator do to resolve this issue?

A. In the server Profile, make sure OS Deployment is set to Deployment Plan.
B. Use UEFI System Utilities to disable the B140i RAID controller.

C. Verify that the USB drive key is enabled in UEFI System Utilities.

D. Make sure PXE boot is disabled.

Correct Answer: B

QUESTION 4
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How can a Synergy integrator increase the efficiency with which a Synergy solution can be provisioned? (Choose two.)
A. Use Powershell to automate configuration and application of server profiles.

B. Use Image Streamer to provide a stateless OS environment.

C. Associate all Synergy frames with the same data center.

D. Use a Multimodule Link Aggregation Group (MLAG) to automate link failover.

E. Use Composer as a PXE server to automate OS deployments.

Correct Answer: AB

QUESTION 5

Which element of the HPE Synergy 12000 Frame protects against loops on the MGMT ports that are connected to the
external management network?

A. Image Streamer

B. Frame Link Modules
C. Interconnect Modules
D. Composer

Correct Answer: A

QUESTION 6
DRAG DROP
A customer needs to add Image Streamer to a Synergy 3-frame environment.

Use the arrow or click and drag all of the tasks required to perform this upgrade on the left into the correct order on the
right. (Note: not all steps may be needed.)

Select and Place:
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Tasks

Power down and unassign server profiles,
and then delete the logical enclosure.

Add the deployment server.

Reassign server profiles and powsar up the
compute modules.

Copy/edit the Logical Enclosure Group and
Enclosure Group, addng Image Streamer.

Create a new Logical Enclosure using
Image Streamer enabled EG.

Delete the Logical Enclosure.

Correct Answer:

Tasks

QUESTION 7

Refer to the exhibit.
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Order

Order

Create a new Logical Enclosure using
Image Streamer enabled EG.

Copy/edit the Logical Enclosure Group and
Enclosure Group, adding Image Streamer.

Add the deployment server.

Power down and unassign server profiles,
and then delete the logical enclosure.

Delete the Logical Enclosure.

Reassign server profiles and power up the
compute modules.
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EOR Switch-1 {RFAPC Link(sy EOR Switch-2
- e
MLAG

EFI‘I.;IIE l-

Frame 1

Frame 3

Based on the Synergy configuration shown, what will be the outcome in the event of an end-of-row (EoR) switch
failure?

A. Smartlink will be triggered

B. There will be no NIC failover.
C. Uplink bandwidth will decrease.
D. Server and downlinks will fail.

Correct Answer: B

QUESTION 8

A customer has a multi-frame Synergy solution. The customer\\'s Support team recently missed some important alerts in
its Composer interface because each pair of Composers resides on a separate management network. What should the
customer do to minimize the risk of this reoccurring?

A. Configure HPE Intelligent Management Center.

B. Implement HPE Synergy Global Dashboard.

C. Configure Remote Support.

D. Implement HPE Systems Insight Manager.

Correct Answer: B

QUESTION 9

A customer need four Synergy compute nodes to provide virtual machine access to six VLANs over a single link
aggregation group.

How can the Synergy integrator configure the environment to meet the customer\\'s needs?
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A. Create a single tunnel network and assign it to one or more interfaces in the server profile template.
B. Create six untagged networks and assign them to one or more of the interfaces in the server profile template.

C. Create six untagged networks, associate them with an IP address pool, and assign them to one or more of the
interfaces in the server profile template.

D. Create six untagged networks, add them to a network set, and assign that network set to one or more interfaces in
the server profile template.

Correct Answer: A

QUESTION 10

A Synergy integrator is unable to assign an HPE 3PAR Virtual Volume to a new server profile in HPE OneView. The
Virtual Volume has been previously assigned to another profile.

Which setting in HPE OneView is preventing the integrator from assigning the volume to the new profile?
A. shared under storage pools

B. private under volumes

C. private under storage pools

D. shared under volumes

Correct Answer: B
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